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1]¢a) 2x=0x-3 M1 | orcommon
3 denominator
=g Al
(h) Working M1
3
== y== Al
A
©®m | 5 Bl
33
@@ [, M1
? or ecjumvalent al
r= ';'i +2
g
(c XWiii) Accept 2 ar1ze Bl
2| a) &D iz 4 straight line and ATED =907, - ~AFE=00° [F] Bl for any 2
AR = CD =17 { given, H) i core ot
EE =DF =% (given, 5)
“AARE = ACDF (RHS Congruency Test) Bl | Comecttest
If students use Pythagoras” Theoreta to find rexaving side, or trigo
to find e lnded angle, accept 355, BAS, MAS o ASL accordingly,
ensuring that the approprate Congiue ney te st is applied.
(hXi} B Bl
17
(h i} m M1 |for
3 prthagoras
Bl Al
17
3| (a) (450=d4x(150=2x) B2 1 for each
14 & 2 bracket.
=a7500=1500x+8x Only Bl if
both brackets
arvenbutin
the wrong
operation, e .g.
qubtraction or
drigion
irstead of
il tiplica ion
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th) 67300 -1300% 422" = 42000 M1 | Setupegn
23752 +4875=0
375 i,li(—z?j)? — A AR M1 | Substitute
x= correctly
2(2) bhazed on thewr
=141 o0r 1734 (xej) Al |egn
4] (a) snACE _sinls M1
20 10 il
ACE =31 2%ref) or 148 87
) 16.2° Bl | &Alow FT
from da
1 . M1 | Substitation.
© ~(20)10)sinl6 13 P
from db
=279(3
(35) %
o) 1 M1 | &low FT
E{ZD)PJ =278 L
R =279(35) st
(e) B a5t Bl | Comect
JEAD = o™ A0 +10% =25 iy
202006100
Correct
=108 2 { shown) Bl | substitution
5| (a) 15and-1 B2 |Eleach
b Corect plot B2 |-1foreach
wrongly
plotted point
Stoooth line (see annex) Bl
(c) Gradient = -3.75 [accept -4.5 to <2.9] M1 | Setupwith
correct points
Al
@xiy |-21 [Accept 2.5 to -2.05, carmot accept -2 Bl
(dxi) |-1or-5 B2 | Nhxofl only
if no lines
drawm.
6| Ga) 4f 15 M1 | Cx
& =da [ﬁ] tang=75/200.
=204 Al |1 point only
for 659 42
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(h) h=200tan10" M1 | Formula
H=T75+h s |
1
= 110m(35) Ay o
7| (a)ii) 100 El
() | 3200 Bl
(a) The population doubles every 60 days Bl
(c) 60 Bl
(d){i) Correct substitution, working and conclusion should show P<<200 | B1
{dyin) 103" Bl
Change 10/100 te 90,100 or 0.9, or [l_ﬁ)
(e) 14 months (must round upto 14) Bl
| 20
|
| i .
|
«3 P =1
I
s e, o |
|
N s
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